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A01 OK 50K 30
A02 50K 0K -10
AO3 Omin 90min 30
AO4 Omin 90min 60
c01 Oomin 15min 3
c02 omin 15min 3
c03 0% 100% 50
c04 NO
/ do1 EL
do2 0°c 25°c 10
do3 OFF 48hour 8
do4 0 min 180 min 35
do5 0 min 60 min 1
d0o6 0 min 20 min 3
do7 0 min 20 min 3
dos -15° 0° -5
do9 NO
/ d10 YES

di1l 0 min 199 min 60
d12 omin 15min 10
FO1 NO
FO2 0 min 30 min 0
FO3 NO
001 0s 600s 5

4 002 3

1= 3
005 OFF 100 11

Pt/PTC 006 PTC

OFF 101-t06 0 23

t07 Ohour 23hour
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DK1.9WFEN DK1.3WFEN
3 25 /60% 3 25 /60%
| [
(m3) 1.90 1.27
( ) =-18 =-18
w) 32W>=<6 32W>=<4
V 3N~380 3N~380
HZ 50 50
W | 1720=<2+700=2 |1080><2+830><2
W 5002 200>=2
R22 R22
(Kg) 650 450
(mm) 3657>1967><920 |2438><1967>=920
DKO. 95WFCN DKO. 6WFDC
3 25 /60% 3 25 /60%
| [
() 0.95 0.56
C ) =-18 =-18
w) 32W>=<4 32W>=2
V 3N~380 3N~380
HZ 50 50
W| 1080><2+800><2 15004550
W 500><2 150
R22 R22
(Kg) 338 215
(mm) 1829><1967><920 |1967><1032><920
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